Use superposition to determine the voltage Vx.
Also state which of the two sources influences Vx more.

Superposition lets us think of Vx as the sum of two Vx voltages. 

The first is contributed by the 20 V source, the other by the 4 A source.

Vx20 is the 20 V source acting alone.

Vx4 is the 4 A source acting alone.

Find Vx20 by disabling the circuit’s other sources. Disable a source by setting is value equal to 0.

So 0 A in this case indicates an open circuit.

Now find Vx20 by analyzing the circuit.

The 8 Ω resistor has 0 A through it, so it doesn’t contribute to the circuit. So take it out of the circuit.

The remaining circuit looks like a voltage divider.

So Vx20 is the resistance we want divided by the total series resistance.

Note that the 20 V source’s sign is opposite of Vx20’s sign, so we multiply by -20.

This gives Vx20 = -5 V.

Now redraw the original circuit and find Vx4.

Set the voltage source to 0 V. This is the same thing as a short circuit.

The bottom 8 Ω resistor will always carry 4 A because it’s in series with the source.

So we can remove the resistor since this behavior always occurs.

The circuit can be seen as a current divider here. It takes two different path and then rejoins.
First find the current through the 4 Ω resistor.

Ix4 is the conductance of the top branch divided by the sum of all branches’ conductances.

Note that the top branch’s conductance is 1/(4+4) and not 1/(4).

This gives Ix4 = 2 A.

Use Ohm’s law to find the voltage Vx4.

Now add Vx20 and Vx4 to get Vx = 3 V.

Now find which source influences Vx the most.

Take the magnitude of both results. 8 V is the higher magnitude, so the current source was more influential.

